DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

DIVISION WITH -10 TO 10 Name:
Time: Score: y—
o) —111.76 = (—2) = 510,409 + (—10) =
) —297.96 + (—4) = 51 —262.36 = (—4) =
303) —7948.8 + 9 = 318) 3809.2 + 9 =

01 976.3 + (—10) =
w5 3460 + 4 =

206 3042 + (—9) =
307 8688.6 + 9 =

09 266.49 =+ (—7) =
309) —22725 + (=5) =
310) 2226 + (—4) =
) —108.36 = (—2) =
52 56296+ (—8) =
a3 —10.15 + (=7) =
1 —064.8 + (—1) =

319) 3661.2 +9 =

Mathematics: Division - Level 6 - Horizontal - Set 4

319)

320)

321)

322)

323)

324)

325)

326)

327)

328)

329)

330)

12

1463.2 + (—4)

162.6 = (—6) =

—59052 + 6 =
—12912 = 6 =
—9026 + (—1)
3445 + 10 =

4284 + 8 =

43210 + (=5) =

—ATT12 = (—8) =
41616 + 9 =
—3382 = (—5)
—7920.9 + 9 =
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